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4. A conducting spherical shell of radius R carries a charge Q. Find the force per unit area on
the surface caused by the charge. (159% )

5. Aconducting spherical shell of radius R is grounded. A charge q is inside the cavity and is at
a distance r from the center of the sphere. r<R. Find the force on the charge g. (209 )

6. Atransformer has N, turns for the primary winding on the iron core, and N, turns for the
secondary winding. Find the ratio of the output voltage to the input voltage. (159 )



